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JEE MAIN 7 ApriL 2025 SHIFT 2

MATHEMATICS QUESTION PAPER WITH ANSWER KEY

Q. Question Answers
No.
1 Ifx |x - 3| + 3 [x - 2| + 1 =0, then the number of real solution is 1
2 Re (Zz—ﬂ-) + Re E 0
Z+1 Z—1

is a circle of radius r and centre (a,
b), then 15ab/r? is equal to

@+B|+|d-b |3 +2\2
w = /2 + 1, then the value of ]
a+b|—|a—b| 1

=p isa s d+b| .
If two vectors d and b satisfies L is

a-b

equal to

4 Let f(x) = x-5/x2-3x+2', if range of f(x) is (-0, a) U (B, ). There o> + | 194
B? equals to

5 If a box contains 19 unbiased coins and 1 biased coin with both faces 19/21
head. If a coin is randomly chosen out of this box and tossed. If the
head appears, then the probability that the unbiased coin was selected

6 If £(6) = tan(tan 0) - tan(sin 0)/tan 0-sin 6 is continuous at 6 = 0, then 1
the value of £f(0) at 6 = 0 1s equal to

7 Lety = y(x) and (1 +x?)y' — 2xy = (x* + 2x*> + 1) cosx. If y(0) = 1, then | 24
[ y(x)dx equals to
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8 The sum of series 2C; » (1 x 2) +3C, » 2 x3) +*Cy e (3 x4) + ... + 114
PCig* (18 x 19) is S, then S/295 is equal to




